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Distance-Time Graphs Example

The graph below shows the journey of a car from Ayton to
Beeton (a town 80km from Ayton) and back again.
Using the graph, answer the following questions:

{a) At what time did the car stop for the first time?

(b) What was the car's speed from the first stop to Beeton?

{c) For how long did the car stop at Beeton

{d) Cn which part of the journey did the car travel fastest? What
was its speed on that part of the journey?
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Velocity - Time Graphs Example

Remember -

o The GRADIENT of a velocity-time graph gives the& CCrLeEriTionN
« The AREA under a velocity-time graph gives the T\ 51%4" C TRAVZLLED

v (mis)

The diagram shows the journey of a car between two traffic lights.

(a) What is the car doing between 5 seconds and 20 seconds?
(b) What is the acceleration of the car after 3 seconds?

(c) What is the total distance travelled by the car?

(d) What is the average speed of the car over this journey?
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